Name: Date:

Teacher: Class:

Multiple Operations

Evaluate.

1L 3 x(8-2) x 10 =

2.3 x (11 - 5) =

3. 2x (6 -3 x4 =

4. 3 x (4 - 2

5. 3 x (56-2)x 10 + 8 =

6. 9 x (7 — 3)

7. 3+ (11 -7 x (6 — 5)

8. 4+ (9 - 8) x (11 — 6) =

0. (O -T7)+2) x6=

10. (8 + 5) x 8 =

©Cybersleuthkids http://cybersleuth-kids.com ; lessonplancentral.com Score:



Answer Key Date:

Teacher: Class:

Multiple Operations

Evaluate.

1. 3 x (8 —2) x 10 = 180

2. 3 x (11 — 5) = 18

3. 2x(6—-3) x4=24

4. 3 x (4 - 2)

[
o

5. 3 x (5—-2) x 10 + 8 = 98

6. 9 x (7 — 3) = 36

7. 34+ (11 -7 x (6 - 5)

[
\l

8 4+ (9 -8 x (11 -6) =9

9. (9 -7)+2) x6 =24

10. (8 + 5) x 8 = 104
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